DISH)HD Satl. TV BSHDTV DVE-T Com-Atn.
XE MW @WERER HAHE BUEEF HKEXR

®  120cm TS A

P120-1P

DESCRION QTY

BEHIND SUPPORTER 1

SEAT OF INB 1

FIXING CLAMP 3

5/16"X2/1"HEX-HEAD SCREW 4

5/16"X1"HEX-HEAD SCREW 2

4/1"X1 1/4"HEX-HEAD SCREW b

ITEM
O
2 | == LNB SUPPORTER 3

®
i,
a”
o
=
o

®

-]

P

ODEL P120-1P1

8 4/1"X1/2"HEX-HEAD SCREW 3 REFLECTOR (ﬁmﬁg) 1200
C-BAND GAIN 3.40- 420GHZ 32.68dB

9 5/16" HEX NUT 6 KU-BAND GAIN 10.70 - 12.75GHZ 42.33dB
EFFICIENCY 75%

10 1/4" HEX NUT 9 ) 045

n 1/4"X11/2"ANCHOR BOLT ¢ FOCAL LENGTH socM

Vo -

120cm T e sl A <2 9=



